
Puzzel   twee  
 

Suc6!  
 
aaabb   /   aabaa   //   aaaba   /   abaaa   /   abaaa   /   aabab   /   aabaa   /   baaaa   //   baabb   /   aaaaa   /  
abbaa   //   aaabb   /   aabaa   //   aaaba   /   abbab   /   aaabb   /   aabaa   //   abaaa   /   baaab   //   aaabb   /  
aabaa   //   aaabb   /   aabaa   /   baaaa   /   aaabb   /   aabaa   //   baabb   /   aaaaa   /   abbaa   //   aaabb   /  
aabaa   //   aaaab   /   abbab   /   baabb   /   babaa   /   abaaa   /   aaaaa   /   aaaaa   /   baaaa   //   aaabb   /   
aabaa   //   aabba   /   baabb   /   ababa   /   aaabb   .  
 
 
Uitkomst   is   het   2e   cijfer   van   de   cijfercombinatie.  
 

 

 
Een   filosoof   met   een   andere   kijk   op   het   leven.  


